MEMORANDUM

CITY/BOROUGH OF JUNEAU

155 SOUTH SEWARD STREET, JUNEAU, ALASKA 99801

EMAILED MEMORANDUM

TO:

Renee' Loree

CBJ Purchasing Officer

Date:

June 4, 2020

FROM:

Greg Smith

Contract Administrator

File:

2070

SUBJ:

POSTING NOTICE OF BIDS

2020 Area Wide Paving Contract No. BE20-214

This memo is to post a notice of the results of the bid opening on June 2, 2020, for the subject project. The bidders and their total bids are as follows:

BIDDERS	TOTAL BID						
Southeast Earthmovers	\$493,994						
SECON	\$510,776						
ENCO Alaska	\$568,247						
Arete Construction	\$629,717						
Engineer's Estimate	\$527,165						

The apparent low bidder is Southeast Earthmovers. The CBJ intends to award the Total Bid in the amount of \$493,994.

This notice begins the protest period per Purchasing Code 53.50.062. Protests will be executed in accordance with CBJ Ordinance 53.50.062 "Protests", and 53.50.080 "Administration of Protest." The CBJ Purchasing Code is available online at: http://www.juneau.org/law or from the CBJ Purchasing Division at (907) 586-5258.

The apparent low bidder has until **4:30 p.m. on June 9, 2020,** to submit the Subcontractor Report, Section 00360 to the Engineering Department Contracts Office. The Subcontractor Report must be submitted even if there are no subcontractors planned for the job.

c. BiddersJohn Nelson, CBJ Project Manager



BID SUMM	NARY Reviewed by:	Caleb Comas		Certified by: 0	ireg Smith						
Project Title Contract No.	2020 Area Wide Paving BE20-214			Engineer's Estimate		SEEM PO Box 784		SECON PO Box 32159		ENCO PO Box 33022	
Bid Opening Date: June 2, 2020		File No. 2070 CIP No.: R72-128				Sitka, AK 99835		Juneau, AK 99803		Juneau, AK 99803	
PAY ITEM	PAY ITEM DESCRIPTION	UNIT PRICE	QUANTITY	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
1505.1	Mobilization	Lump Sum	All Req'd	LS	\$30,000.00	LS	\$30,000.00	LS	\$45,000.00	LS	\$40,000.00
1570.1	Erosion and Sediment Control	Lump Sum	All Req'd	LS	\$7,500.00	LS	\$3,000.00	LS	\$2,500.00	LS	\$5,000.00
Ash Street											
2202.1A	Excavation	CY	77	\$20.00	\$1,540.00	\$12.00	\$924.00	\$20.00	\$1,540.00	\$20.00	\$1,540.00
2204.1A	2-Inch Minus Shot Rock / Base Course	CY	73	\$55.00	\$4,015.00	\$51.00	\$3,723.00	\$65.00	\$4,745.00	\$60.00	\$4,380.00
2402.1A	Replace Sanitary Sewer Frame and Cover	Each	1	\$750.00	\$750.00	\$800.00	\$800.00	\$850.00	\$850.00	\$800.00	\$800.00
2602.1A	Replace Valve Box	Each	1	\$750.00	\$750.00	\$425.00	\$425.00	\$500.00	\$500.00	\$350.00	\$350.00
2702.1A	Construction Surveying	Lump Sum	All Req'd	LS	\$1,500.00	LS	\$1,800.00	LS	\$1,000.00	LS	\$2,000.00
2801.1A	A.C. Pavement, Type IIA, Class B	Ton	45	\$185.00	\$8,325.00	\$196.00	\$8,820.00	\$190.00	\$8,550.00	\$210.00	\$9,450.00
2806.1A	Remove Existing AC Pavement	SY	277	\$5.00	\$1,385.00	\$4.00	\$1,108.00	\$5.00	\$1,385.00	\$10.00	\$2,770.00
Behrends Av	enue										
2202.1B	Excavation	CY	719	\$20.00	\$14,380.00	\$14.00	\$10,066.00	\$13.00	\$9,347.00	\$18.00	\$12,942.00
2202.2B	6-Inch Minus Shot Rock	CY	41	\$65.00	\$2,665.00	\$44.00	\$1,804.00	\$50.00	\$2,050.00	\$50.00	\$2,050.00
2204.1B	2-Inch Minus Shot Rock / Base Course	CY	645	\$55.00	\$35,475.00	\$52.00	\$33,540.00	\$55.00	\$35,475.00	\$60.00	\$38,700.00
2402.1B	Replace Sanitary Sewer Frame and Cover	Each	5	\$750.00	\$3,750.00	\$800.00	\$4,000.00	\$850.00	\$4,250.00	\$800.00	\$4,000.00
2402.2B	Replace Sewer Cleanout Frame and Cover	Each	1	\$350.00	\$350.00	\$800.00	\$800.00	\$500.00	\$500.00	\$450.00	\$450.00
2501.1B	6"CPP Underdrain	LF	171	\$35.00	\$5,985.00	\$30.00	\$5,130.00	\$30.00	\$5,130.00	\$35.00	\$5,985.00
2502.1B	Replace Storm Sewer Frame and Cover	Each	2	\$750.00	\$1,500.00	\$600.00	\$1,200.00	\$1,000.00	\$2,000.00	\$800.00	\$1,600.00
2602.1B	Replace Valve Box	Each	3	\$750.00	\$2,250.00	\$425.00	\$1,275.00	\$500.00	\$1,500.00	\$350.00	\$1,050.00
2702.1B	Construction Surveying	Lump Sum	All Req'd	LS	\$3,500.00	LS	\$3,700.00	LS	\$4,000.00	LS	\$5,500.00

BID SUMN	IARY Reviewed by:	Caleb Comas		Certified by: G	reg Smith						
Project Title 2020 Area Wide Paving Contract No. BE20-214 Bid Opening Date: June 2, 2020		File No. 2070 CIP No.: R72-128		Engineer's Estimate		SEEM PO Box 784 Sitka, AK 99835		SECON PO Box 32159 Juneau, AK 99803		ENCO PO Box 33022 Juneau, AK 99803	
	T	CIF NO R72-120									
PAY ITEM	PAY ITEM DESCRIPTION	UNIT PRICE	QUANTITY	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
2720.1B	Painted Traffic Markings	Lump Sum	All Req'd	LS	\$3,000.00	LS	\$5,500.00	LS	\$6,000.00	LS	\$6,000.00
2801.1B	A.C. Pavement, Type IIA, Class B	Ton	400	\$185.00	\$74,000.00	\$180.00	\$72,000.00	\$175.00	\$70,000.00	\$195.00	\$78,000.00
2806.1B	Remove Existing AC Pavement	SY	2,441	\$5.00	\$12,205.00	\$4.00	\$9,764.00	\$4.00	\$9,764.00	\$5.00	\$12,205.00
Mountain Avenue											
2204.1M	Base Course Grading D-1	Ton	95	\$55.00	\$5,225.00	\$71.00	\$6,745.00	\$80.00	\$7,600.00	\$55.00	\$5,225.00
2402.1M	Replace Sanitary Sewer Frame and Cover	Each	4	\$750.00	\$3,000.00	\$800.00	\$3,200.00	\$850.00	\$3,400.00	\$800.00	\$3,200.00
2602.1M	Replace Valve Box	Each	11	\$750.00	\$750.00	\$425.00	\$425.00	\$500.00	\$500.00	\$350.00	\$350.00
2603.1M	Fire Hydrant Pad	Each	1	\$800.00	\$800.00	\$1,300.00	\$1,300.00	\$1,500.00	\$1,500.00	\$2,500.00	\$2,500.00
2702.1M	Construction Surveying	Lump Sum	All Req'd	LS	\$2,000.00	LS	\$1,700.00	LS	\$2,500.00	LS	\$4,500.00
2801.1M	A.C. Pavement, Type IIA, Class B	Ton	654	\$185.00	\$120,990.00	\$170.00	\$111,180.00	\$170.00	\$111,180.00	\$185.00	\$120,990.00
2806.1M	Remove Existing AC Pavement	SY	3,995	\$5.00	\$19,975.00	\$4.00	\$15,980.00	\$3.00	\$11,985.00	\$5.00	\$19,975.00
Mark Alan S	treet							,			
2204.1MA	Base Course Grading D-1	Ton	86	\$55.00	\$4,730.00	\$71.00	\$6,106.00	\$80.00	\$6,880.00	\$55.00	\$4,730.00
2402.1MA	Replace Sanitary Sewer Frame and Cover	Each	2	\$750.00	\$1,500.00	\$800.00	\$1,600.00	\$850.00	\$1,700.00	\$800.00	\$1,600.00
2402.3MA	Sanitary Sewer Manhole, Type I with Fiberglass Base Liner	Each	1	\$5,000.00	\$5,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$7,500.00	\$7,500.00
2603.1MA	Fire Hydrant Pad	Each	2	\$800.00	\$1,600.00	\$1,300.00	\$2,600.00	\$1,500.00	\$3,000.00	\$2,500.00	\$5,000.00
2702.1MA	Construction Surveying	Lump Sum	All Req'd	LS	\$2,500.00	LS	\$1,500.00	LS	\$2,500.00	LS	\$4,500.00
2801.1MA	A.C. Pavement, Type IIA, Class B	Ton	370	\$185.00	\$68,450.00	\$173.00	\$64,010.00	\$170.00	\$62,900.00	\$190.00	\$70,300.00
2806,1MA	Remove Existing AC Pavement	SY	2,527	\$5.00	\$12,635.00	\$4.00	\$10,108.00	\$3.00	\$7,581.00	\$5.00	\$12,635.00

BID SUMN	IARY Reviewed by:	Caleb Comas		Certified by: 0	Greg Smith						
Project Title Contract No.	2020 Area Wide Paving BE20-214			Engineer's Estimate		SEEM PO Box 784		SECON PO Box 32159		ENCO PO Box 33022	
Bid Opening Date: June 2, 2020		File No. 2070 CIP No.: R72-128				Sitka, AK 99835		Juneau, AK 99803		Juneau, AK 99803	
PAY ITEM	PAY ITEM DESCRIPTION	UNIT PRICE	QUANTITY	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
La Perouse Avenue											
2501.2L	Replace Storm Drain Pipe	Lump Sum	All Req'd	LS	\$5,000.00	LS	\$6,500.00	LS	\$7,000.00	LS	\$8,500.00
Trout Street											
2202.1T	Excavation	CY	242	\$20.00	\$4,840.00	\$10.00	\$2,420.00	\$13.00	\$3,146.00	\$20.00	\$4,840.00
2204.1T	2-Inch Minus Shot Rock / Base Course	CY	231	\$55.00	\$12,705.00	\$51.00	\$11,781.00	\$60.00	\$13,860.00	\$60.00	\$13,860.00
2402.1T	Replace Sanitary Sewer Frame and Cover	Each	1	\$750.00	\$750.00	\$800.00	\$800.00	\$850.00	\$850.00	\$800.00	\$800.00
2501.1T	6"CPP Underdrain	LF	34	\$35.00	\$1,190.00	\$28.00	\$952.00	\$30.00	\$1,020.00	\$35.00	\$1,190.00
2702.1T	Construction Surveying	Lump Sum	All Req'd	LS	\$2,500.00	LS	\$900.00	LS	\$2,000.00	LS	\$2,500.00
2801.1T	A.C. Pavement, Type IIA, Class B	Ton	172	\$185.00	\$31,820.00	\$182.00	\$31,304.00	\$180.00	\$30,960.00	\$200.00	\$34,400.00
2806.1T	Remove Existing AC Pavement	SY	876	\$5.00	\$4,380.00	\$4.00	\$3,504.00	\$3.00	\$2,628.00	\$5.00	\$4,380.00
	Total Base Bid				\$ 527,165.00		\$ 493,994.00		\$ 510,776.00		\$ 568,247.00